1)

2)

3)

4)

5)

6)

7

8)

9)

10)

Solve addition and subtraction word problems

One weekend, 2,576 people go to watch a football team play. The next
match, 981 people come to watch them. How many people watched
them in total over both games?

A man has £4,245. He spends £82. How much money does he have
left?

A school had 356 glue sticks. By half-term, 72 of the glue sticks were
used up or broken, so they were thrown away. How many were left?

A man weighs 72.4Kg. He gains 2.8Kg. How much does he weigh now?

Sara and Abeda have a competition to see who can swim the furthest
without stopping. Sara swims 2.2Km and Abeda swims 1.8Km. How
much further did Sara swim than Abeda?

Samiha is 136.8cm tall. Monica is 118.4cm tall. How much shorter is
Monica than Samiha?

The temperature was -4°C. It increases by 9°C. What is it now?

At the start of the year, there are 420 children in a school. Over the yeatr,
30 children leave the school and 16 join it. How many children are in the
school at the end of the year?

Alif has £6.20. He spends £1.30 on a chocolate bar and 36p on an apple.
How much money does he still have?

A car has 45.4 litres of fuel. It uses 8.1 litres of fuel, then adds 19.8 litres
of fuel at a petrol station. How much fuel is in its tank now?



